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QUESTION 1

Which statements on Group of video (GOV) length are true? (Choose two)
A. The GOV length can be adjusted in both Motion JPEG and H.264

B. The GOV length setting only has an impact on MPEG-4

C. The GOV length setting is only used for recording

D. The GOV length setting has an impact on bandwidth

E. A long GOV length increases the storage time on SD card

Correct Answer: DE

QUESTION 2

In a network surveillance installation, the purpose of a switch is to
A. Forward the video stream between networks.

B. Forward the video stream to the correct receiver within a network.
C. Disconnect malfunctioning cameras from the network.

D. Disconnect devices with invalid IP addresses from the network.

Correct Answer: B

QUESTION 3

When initiating a surveillance project with a customer, which of the following should be considered first?
A. Understand which camera models to use

B. Understand the customer\\'s technical knowledge

C. Understand the customer\\'s goals and requirements

D. Understand the legal aspects for the installation

Correct Answer: C

QUESTION 4

A convenience store needs a camera to cover the entrance. Identification is needed at 80 pixels per face. Given that the
scene is 2 m (6 ft 7 in) wide, which of these resolutions is the minimum one needed?
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A. 640X480

B. 800 X 600
C. 1280 X 720
D. 1920 X 1080

Correct Answer: C

QUESTION 5

If image clarity changes are made within the camera web interface, but are not reflected within a Video Management
Software (VMS), what is the most likely cause of the camera not accepting the settings?

A. The camera is faulty and needs to be replaced

B. The VMS is overwriting the changes in the camera

C. The camera\\'s advanced settings need to be changed first

D. The user does not have administrative rights to change the settings

Correct Answer: B
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